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Section A {25 marks)

Questions 1 to 5 carry 1 mark each. Questions 6 to 15 ¢arry 2 marks each. Choose the comect

answers and shade your answers in the Optical Answer Sheet provided.

1. Find the value of 20+ 10 o z
(1) 40
(2) 38 _
(3) 60 ‘ —
4) 118

M)

2. What is the reading indicated on the weighing scale below?

o

(1) 20.15 kg
(2) 203 kg
(3)21.5kg
(4) 23 kg

Ea)

5. There is one pair of parallel lines in the figure. They are

(1) AF and CD.
(2) BC and EF

(3) BCand CD
(4) AB and AF

www misskoh com
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4. 3206 kmisthesameas __ m.
1) 3206

(2) 3260

m 2 060

(#4) 37 800

5. At asale, Rose was given a discount of $4 for a book which was sold at $20. How many
percent was the discount? - :

8. %Xptem — hour as a fraction of 13

-
[
-

T s fun tal| I ,,4.{}7 .

7. Arectangular piece of paper was folded to become 2 hollow eylindrical tube as
shown below. '

=00%om

£

Ares ?

|
v

H

-y

1 the circumference of the tube is 22cm, find the area of the rectangular piece of

paper.
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8. The pie chart below shows the amount of money Derrick spent on various things.

.....
lelelelelele

Books 15%

L Clothes $250
Shoes _ /

\\\\\\\
““““““““““

How much money did he spend on the bag?
(1) §37.50
(2) 350
(3) $75
(4) $125

9. Mus Lee had $m left after buying two watermelons that cost $2.50 each.
- How much money did she havye at first? ' '

(1) $(m ~2.50)
(2) $(m ~5)
(3) $(m +3)
(4) $(m + 2.50)

10. — of Liling’s money

equals to — of Benny’s, Express Liling’s money as a ratio of Benny’s,
3 . D ' -

11 250 g of tomatoes cost $0.55, Jenny paid $6.60 for a packet of tomatoes,
What was the weight of the tornatoes she bought?

(1) 2kg
: 1
2) 2—
@ 23
(3) 3 kg

kg
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13. If the area of & square is increased by 300%, by what percentage is the side of the square
increased?

(3) 300
{4y 400%

14, Sharifah wallced at 4 kmv/h and took = hour to reach the school. If she walked

£

1 kmv/h slower, how long would she take to reach the school?

U) 30 min
{4) 45 min

| “ v i |
5. There were as many men as women at a party. — of Mw men and — of ’ﬂne wm SR WOTL
3 e

4

prizes. What {rac m ry of the people won prizes?

x
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Section B (20 marks)

Questions 16 to 35 carry 1 mark eat,h Write your answer in the blank space provided. Give vour
answers in the units stated.

16.  40110g +1.5kg= : g
Answer; kg
17.  Express $2 as a percentage of $50.
Answer: L
18.  TFind the difference between the values of the digit*3 in 37 200 and 73 200,
Answer:
"%
19, Express '%; as a decimal. Round off your answer to 2 decimal places.
Angwer: ‘
20.  Simplfy Sa+6—d4a -4,
Answer
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21, Tind the area of triangle PQR

. I eom

t ii oM

Answer: _ em?

[
S
;

T

A is the mid point between -

) i

= L

- and = < What 15 the valus of AY

i

Angswer:

23, Acartoon programume ended at 3.20 pam. Tt lasted for 45 minutes.
At what time did the cartoon start showing?

Answer: pm

24, Yip Seng saved an average of 65 cents a day. How much would he save in 26 days?

Answer: §
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25,  Alling earns 5¢ for every apple sold. If she sells 125 apples in 2 hours, how much could
she earn in 8 hours?
Answers &
26.  The diagram below shows a running track which is made up of a rectangle and 2 semi-
circles. What is distance covered by Joshua if he jogs round it once? (Take m=3.14)
T T
I 1 !
! i
i e
Pl 100 m :
i ’ i /
! i Wi
] i
G 150 m—P
Answer: m
27. Al walks 420m from home to school at a speed of 35 m/min. How long does he take to,
reach the school? '
Answer: ___h
28. Find the value of p3 +2p+4whenp=5,
Answer:
29 22 out of 40 pupils pack their bags regularly

pack their bags regularly?

WWW.InISskoh com

. What is the percentage of the pupils who

Answern Y
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30.  Rose mixes 400ml of carrot juice with 1.4/ of orarige juice to prepare a drink. What is the
rahio ‘of the carrot juice to the orange juice used?

Angwer:

31, Jimand Peter share $200 in the ratio of 3 : 2, How much money tnust Jim give Peter so
that the ratio beoc 3% '

v

Arswer: §

32, In the figure below, . s a straight line. If 2 5= b, find & &

Answer: °

33, Measure 0 m oand write down its sive.

Answer:
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34, Complete the figure below so that the dotted line PQ is the line of symmetry.

35, Study the tessellation below carefully.
Shade the unit shape that does not fit into it.
: N " w * - FRT—— " d‘v‘“
’ * . m‘} it "
’ " ‘"‘l““—‘ — vt ”
' ,.ai_ MMMMM a »
n ﬂ"w B} \
A"‘w“l
»’M
W ﬂ—_"w » - . .
) * ;"’M w " N
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Section € (55 marks)

Write your answers to questions 3 (’i to 50 in the space provided. For each question, show vour

working in the space below it. The number of marks allocated is shown in the brackets { ] at the
end of each question or pm"i.—f;:;mmmx‘ ‘

36, Jenny colie&:ctm a certamn number ¢ tmkms After buying *mother 3 times as many
stickers as she had, she now | LNTL ﬂ}' % stickers. How many stickers did she have at
¥ __,-J_,m

first? »

Answer: _ _ {2m]

2

37. During a promotion at 2 zoo, every 8™ visitor will be given a free admission ticket. How
many free admission tickets will be gy.v?ttn to a group of 90 visitors?
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38. Five identical cubes are joined together as showrt in solid A. If the total surface area of the
solid is 198cm?, find the volume of | cube. -

TP

Solid A

Arngwer

39." The table below shows the parking rate at ABC shopping centre.

For the first hour or part thercofl

For subsequent ¥ hour or part
thereof

$0.50

Mrs. Lim paid $5.80 for parking at the shopping cent

www Irnisskoh com

e,

‘What is the longest time she could have pmkcd{inm; car at the shopping centre?
. Y e L - =

Argwer:

[3m)
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40, A rectangular piece of paper is folded to form the shape shown below.

Find the peameter of the rectang

b
1

S e

T

e el -

<+

Answer:

www Irnisskoh com
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41, The diagram below shows the different places in Happy Town. The four bold lines
represent the 4 main roads in the town.

Scehool
Library MRT Station
~
\\
\\
Playground em——— ,:ﬁ\ . Shopping Centre
\\Y
\\\“\N
)*‘\
N
“\\
N " N \\\_ " ‘
Post Office Petrol Kiosk

Market

a) Adeline is facing the library. Where will she face if she turns 90 anti-clockwise?

Answer: () (i
b) Another girl Rachael is facing the market after making a 1 35° clockwise turn. Where was she

facing before making the turn?

Answer: (b) [1m]

E —

¢) Samson is facing the library. He wants to go to the shopping centre. Through what angle
should he turn anti-clockwise to face the shopping centre?

www misskeh.cem 501-brES4.



42, A rectangular tank, 80cm by 50cm by 40cm, was filled with . of water. The tap was

LRY:
turned off, A rock of volume 20000 em® was placed into the tank,

,\ ,,*_ m(\, o) ¢ 3 S

40 em

Angwer: (a)

IS

b) The tap is turned on now, How long will it take to drain the tank if water is flowing out at &
rate of 4 litves/min?

Answer: (b) [dm]

Ky
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43. Mrs Kumar bought 5 more pens than pencils. She spent a total of $45. Each pencil cost $1.20

and each pen,cost $0.60 more. How many pens and pencils did Mrs Kumar buy altogether?

Answer: [4m]

44, There was an equal amount of red and green beans in a basket. 0.2 of the ged beans and 30%
of the"(}zr@‘bsms were used up. [T the amount of red and green beans left is § kg, what was the

weight?f‘ﬂle red beans at first? . Give Youramiswer in gar

I

WWW Inisskoh com - _503%Pb34.



45. The figure below shows a square of side 28 em and 2 circles. P is the centre of the big circle.
28 -
Find the total area of the shaded parts. (Take = -

4
|

28em

%
|
v

- Vit

A
N I LY s

- Answer: | {4m]

s

o

a e poe A ey " P e :
Linda has 20% as many sweets adSanthi)whereas S ny sweels a5~

ey ™ g > W b » » N e (e ® P N '

“Zaifah I Santhi gives 9 sweets to Zalifah, Santht and Zalifah will then have an equal

. Find the average number of sweets the 3 of thern have.

46.
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47. Mr Lim took a total of 4 hours to drive from Town A to Town B, He travelled the first : K

- 3. \ e
the journey at a speed of 96 kim/h. The next n of the journey took him 70 min. Atwhat

speed did he travel the last part of the journey if the average speed of the whole journey was
90 km/h?
Argwer B . [5m]
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48." The higure below is made up of a triangle EFG overlapping a rectangle ABCD of area

360m2,

l..

Ea— 18 —» F

e o T s b s R R
Given that CH i — of BC and CT is 3 of CD, find the area of the figure.

WWW.InISskoh com
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49. 7Zaliha saved some money in the form of $2, $5 and $10 notes. The value of the $2,

"

$5 and $10 notes was in the ratio of 3 101 5. After taking out «}f of the $2 notes and 16

of the $5 notes to pay fora trip t6 Malacca, she had $240 left. Find the value of the-$10
notes that she had saved. | .

Answer: - [5m]
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-

5 boys and 6 girls shared a number of drink coupons. The girls got — &S MANY Coupons as

the bovs. Ea

b bay received 20 coupons more than gach girl. How many mote coupons did

. the boys receive than the girls?

Answer: , S

) ENTY OF PAPER
www. nisskoh com 508 of 534.




HOKIEN HUAY KUAN 5-SCHOOL PRIMARY 6
COMBINED PRELIMINARY EXAMINATION (1)
MATHEMATICS

1)2 27) 1/5 46) 60

28) 139 47 81 km/h

3) 2 29Y 55 48) 466 w

I~
L
{az
<
S’
[
hatl
oo
e

$ 100

5) 1 31) 40 50) 90 more coupons
6) 2 h

36) l0stickets

=
S
[

15) 2 37) 11 free admission tickers

7 mmj

[

16) 41.61 38)
17) 4 39) 3 hours

18) 27000 40) 80 cm

19) 3.43 41) &) Post Office

20) 4a + 2 . b) MRT Station

21) 8 o) 2259

22) 6/35 “42) a) 8000 umﬂ

23) 2.35 b) 25 min

24) 16.90 43) 29 pens and pencils
25) 25 44) 4000 g

. 9
26) 614 45% 322 om
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Section A (25 marks )

Questions 1 1o § carry 1 mark each. Questions 8 to 15 carry 2 marks each.

For each question, four options are given. One of them is the correct answer. Make
your choice {1, 2, 3 or 4), Shade the correctoval (1, 2, 3 or 4) on the Optical Answer
Sheet. . ~

[

Which one of the following is the likely time that John takes to complete his shuttle
run in the NAPFA test?

1.2 minutes

12 minutes

and ZABD=25% Find < CBRD.

050

J‘fy

Which solid will be formed by this net when folded’

2 DNsm
&

a cuboid

WWW Inisskoh com 511 of 534.
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A lorry laden with goods was booked for speeding along the Pan Island
Expressway. At what speed was the lorry most tikely to be travelling?.

(1) 20 km/h
(2) 40 kmih
(3) 50 km/h
(4) 70 km/h-

The total age of Ali and his brother will be x years in 2 years' time.,
What was thelr total age 2 years ago”

(1 x-2
2) x-4
3) x-6
4)  x-8

Look at the pattern below.

9@ m SICICISE: Slop

SIS S0

15[

What would the 97" symbol in this pattern be?

What is the minimum number of cubes that can be formed from 2001 1-cm cubes?

)
@) 2
3) 3
@) 7

WWW IniSSkoh com 512 of 534.
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his mmnthﬁy salar M Um\ﬁ? m pie Chc.ut to answer (1.128 to Q10,

“““““““““““ e -““‘“““"“_“"“'“Hmm_\
7 N
w‘”ww \ .
Personal
s expenses
[ -
Family
expenses
_\\
N
S ~
L

8
9 Express his total monthly expenses as a fraction of his savings.
4 2
U 8
@) =
1
(3) ™
il
4) -
1
10 It his per “‘“fmﬂ (—“\QPT\HP“ s $425, how much will he'save i
N
(2)
(3)
(\14\

www misskoh com
w::z

He saves

half a year?

Mi

2.5% o

f
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. 1. . G
11 Madam Lee was given 3\01 a cake., Madam Wu was given 50% less cake than

Madam Lee. Madam Chan took the rest of the cake, What was the ratio of Madam
Chan's share to Madam Lee's to Madam Wu's? '

1
1

St

N 2111
2y 2:2:1
(3) 112
4 2

12 This is the net of a cube.

S

Which one of the cubes balow can be made from the net above?

() o

\\\\\\\

www misskoh com
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13 The ﬂqum sho
of 2dcm? and 3

WS %wm shaded rectangles in a square. The shaded parts have areas
5 em®. Find the length of the square.

F

N

7 Lengths

(). 24em
2y  12em
{3) bom
@) dom

14 The average age m'i% peopleis 21 years old. If they are at east 17 vears old,

mx;
what is the maximum age of the oldest person in the group?
(1) 863
(2) 46
{3y 28
4y 29
15 25% m the m M“ in aclass-are girls. How many per cent more boys than girls are

thare in the class?

WWW Inisskoh com 515 of 534.
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Section B (20 marks)

Each question from 16 to 35 carries 1 mark, Write your answers in the spaces
provided. Give your answers in the units stated.

16 Using all the digits below, form the smallest 4-digit number which is a multiple of &,

6,0,5,3

17 How many whole numbers are there between 500 and 25007
Ang:

18 Evaluate > + 20

Ar

5.

19 . Tom has totake 25 mi of cough mixture each day. How many
days will a 150 ml bottle of cough mixture last?

WWW Inisskoh com 516 of 534.
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20 - Find thé‘\ perimeter m;" the figure below.

. |
20cm b )

F
k4
!

21em

21 Find the area of s/quadranbwith a radius of 4em,
N !
Leave your answern .

Ans: _cm?®

22 An erager costs 35 cents. What is the maximum number of
such erasers vou can buy with $2 7

Ans:

h was slower than the actual time by 10 min. If the time by Kelvin's
Som, what was the actual time?

23 Kelvin's watle
watch was

pm

ARSI VW —

“Ans:

24 1009 cm = m, The answerin the blank is

Ans:

WWW Inisskoh com 517 of 534.
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The graph below shows the family size of the pupils in a class. Study the graph carefully
and answer Q25 and Q26. ‘

B
22
20
18
Number 1
14
of 12
pupils 10
B
6 o
4
T e "L‘\H
— R "

3 4 5 6

Family Size

Pl

D5 Thereare ____ pupils in the class altogether.

Ans

96 The number of pupils with a family size of 4 is times those with a
family size of 3.

27 Paul is facing South-West. If he makes = Ti‘um in the anti-clockwise direction

3 / c . . , : e e
followed by e( Zturn in the glockwise direction, which direction will he be facing
w‘/ '

WWW IniSSkoh com 518 of 534
g . '




28 Linda folded a right-angled triangle twice as shown below.

¥

She then punched a hole in each corner of the final triangle and opened the triangle
to its original size. How many holes would she see? '

Ans:

29 Inthe figure not drawn to scale, ABCD is a trapezium and CP=CB.
Calculate £BPC,

Ans: a

30 Name an angle equal to ZX.

Hvimn

WWW IniSSkoh com 519 of 534.
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[S%
—

33

35

The total age of three pupils is 42 years. Find their average age.

Ansi_ .- ears
1 " I o
—of Abel’s savings is equal to - ur Ese nny's ,:avmgt What is the ratio of
.)
Benny's savings to Abd’o mwnu 87

Ans
A machme can wal 1200 envelopes in 15 minutes. At this rate, how long will
it take to seal 3600 envelopes? (Give your answer in hour irs)

Ans: G

20% of ] = $30. What is answer in the box?

Ang §

Simplify a + 3 - 8a + 7a.

Ang:

WWW Inisskoh com
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SECTION C (55 MARKS)

For questions 38 to 50, show your working clearly in the space below each question
and write your answers in the spaces provided.

The number of marks available is shown in brackets { ) at the end of each question
or part question,

36 Linda spent " of her money on Monday. She spent ~ of the remainder on
4 s
Tuesday. What fraction.of her money was feft?
Ans: - (2m)

37 Howard paid $2n for a notebook and a story baok, {f the story book
cost $3 more thanh the notebook, find the cost of one notebook,

Ang: N {2m}
www.misskeh.com 521 of 534.

14



.38 Study the qwen line balmw

39

AD =22 om and BC‘ =5 om,

(a) Find the total length of AB and CD.
(b) Find the length of £F. '

Ans:(a) (tm)

In a Mathematics quiz consigting of 20 questions, 6 marks were awarded: for a
correct answer and 4 marks deducted for a wrong answer, How many corr wt
answers did Harold give if he answered all the questions and got 80 marks’

Ans: (3m)

WWW Inisskoh com 522 of 534.
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40 ° Study the number pattern below.

1
L A
} B3 2 o 3 v:w, + “1
199 £ 3 44+ 3+ 2 %

[N ST WY ST

(a) Write down the 6" line of the sequence.

(b) What is the sum of the sequence of the 30" line?

_(m)

(2m)

www misskoh com
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41 Study the diagram below which is not drawn to scale;
ABC is an isosceles right-angled triangle. AC is paraliel to DE

Ang: o 3m

WWW Inisskoh com 524 of 534.
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42 Mrs Marie bought some apples. She used half of them plus one
more to make a pie. She then used half of the remainder plus one more
to make a pudding, She gave half of those that were left plus one more to

her children and had one left. How many apples did she buy at first?
Ans: ; " _{4m)
www. Inisskoh com 525 of 534.
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43 The parking fees at Cheap Building from 7 am to 12 midnight is as
follows: -

1 hour Tsiso T T -
Eyewsu@gggLJent half houror | $1.00
JEpart thergof ™\ D

S\ AfterSpm. ) ( $3.00 per entry: .
;. e } - A

|

................ e

g SEEEY —_— ' “ g " - iy o L
ayHow much must Mr Rich pay if he parked his car there from 3.45 pm to
545 pm? :

\ns:{a) _(@m)
(b) (Zm)
WWW Inisskoh com 526 of 534.
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44 A goatis tied to a stationary pole using a 1.5 m rope. It eats 1 square
metre of grass in 12 minutes. Find the time taken if it is to eat all the grass

within its reach. Give your answer correct to the nearest minute.
{Taken = 3.14)

Ans: . {dm)

o

WWW Inisskoh com 527 of 534.
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45 In the figure below, ABCD is a 56-cm square. E is the mid-point of BC and
F is the mid-point of DG, X and Y are quarter circles and Zis a semi-circle,

oy

Find the shaded area. (Take x = T )

A B

WWW Inisskoh com 528 of 534.
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46 There are two tins of candies, Y and Z. The ratio of the weight of Y

to the weight of Zis 4: 1. i 26 g of candies is transferred from Y
to Z, the ratio of the weight of Y to the weightof Zis 7 5.

Find the total weight of the two tins ("J‘F candies.

WWW Inisskoh com 529 of 534.
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a bonus of $20 for every 1560 trees he plants. How many Christmas trees
must he plant to earn $§10027

Ans: v {&.my)
WWW IniSSkoh com 530 of 534.
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48  Harrod is 1 m shorter than his father and half as tall as his mother. His father

is taller than his mother by 20 cm.

(a) What is the average height of the three ?

{b) What fraction of his father's height is Harrod's height?

Ans{a)

(b)

K

{Am)

WWW IniSSkoh com
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49 A car and a van were travelling from Town P to Town Q which were
480 km apart. The van.left Town P at 8.15 am and drove towards Téwn Q at an

average speed of of 84 km/h. The car set off 1 hour later than the van but it arrived
at Town Q 15 minutes earlier.

(a) At what time-did the car arrive at Town Q7 _
(b) How much (faster was the car travelling than the van per hour ?

e {3

{2m)
532 of 534.
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: “ms;t of m tiding a cupboard is as follows: $300 for rwood, $

decrease

" ‘

s, If the costs of paint and
of wood is decreased by
1t the cost of buu!qu a cuphoard.

Ans:

THE END

WWW.InISSkoh com

260 for paint and
wages are ing mmed bv 20% each

20%, find the pa rcentage increase or

(5m)

——
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HOKKTEN HUAY KUAN S5-SCHOOL PRIMARY 6
COMBINED PRELTMINARY EXAMINATION 1L

MATHEMATICS
01. 2 11, 4
02. 2 12. 1
03, 1 13, 2
04, 4 14, 4
05, (4} - 15 4
06. 2 :
07. 3
08. 3
00, 4
10. 2

16) 3065 537) $( n = 1.50)

17) 1999 - - h 38) a) 17 em

18) 1/30 b) 13.5 ¢m

19) 6 ' 739) 16

20) 82 cm 40) a) 1+ 2 4+ 3+ 4+ 5+ 6+ 5+ & b 32t
21) 470 | b) 900 |

22y's - oa1) 379

23) 3.05 42) 22

24) 10.99 43) a) $ 3.80
25) 40 b) 2,50 p.m.
26) 7 44) 85 min

27) North East 45) 1596 ca”

28) 12 46) 120 ¢

29) 34

T 47) 820
30) b 48) a) 140 cnm
31) 14 0) 4/9

49) a) 3.30 p.m,
b)

50) 5% dincrease

www misskoh com
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